HSC 2002 - Chemistry

Band 4/5

Question 20 (4 marks)

(a) Identify ONE common household base.
R N,
(b) A student used indicators to determine whether three colourless solutions were

acidic or basic. The indicators used are shown in the table.

- Sample 3

Marks

Indicator Colour change pH range
Methyl orange red to yellow 3.2-44
Methyl red red to yellow 4.8-6.0
Thymol blue yellow to blue 8.0-9.6
Alizarin red to purple 11.0-12.4

Samples of each solution were tested with the indicators. The colours of the
resulting solutions are shown in the table.

Indicator added Colour of Colour of Colour of
solution A solution B solution C
Methyl orange yellow yellow yellow
Methyl red yellow yellow yellow
Thymol blue blue blue yellow
Alizarin purple red red

The student concluded that each of the three solutions tested was basic. Assess
the validity of this conclusion.

T zoluheu o Aamd B e bolh 0SNG 2
e koot prowed oot ey Lud _pts dec B (e
Shen.. by ... TRy ool BV
HBM;HQWC’(&SMW50\U&L\MC‘3QC‘Aic ........

....ﬂﬁ.....mg/}.‘v.\.«j..n%é....&?..fhdx\ml.....b.tu.e.....Lmk.;.....ga.u.e...g....Q.H....r.u.».'.b.g&.......
Y68 e Soleiien e be lightly acid. o revhel

Linskad. . e e conclunian.. Sl e Shodentn. feadid .

_ 15—



	subject: HSC 2002 - Chemistry
	Band 4/5: Band 4/5
	sample:  -  Sample 3


